
 

Q1.  The pressure in a travelling sound wave is given by the equation 

𝛥𝑝 =  (3.02 × 10−3 𝑃𝑎) 𝑠𝑖𝑛 𝜋 [(0.955 𝑚−1) 𝑥 −  (296 𝑠−1)𝑡]. 
Find the sound level of the wave in dB (Take the density of air 𝜌𝑎𝑖𝑟  =  1.21 𝑘𝑔/𝑚3 ). 

 

A) 36.4 

B) 94.1 

C) 90.7 

D) 66.0 

E) 40.8 

 

 

 

Q2.  An ambulance emits sound waves with frequency 𝑓. A stationary observer detects a frequency of 

1.06 𝑓 as the ambulance approaches him. What is the speed of the ambulance in the unit m/s? Take the 

speed of sound as 343 m/s. 

 

A) 17.7 

B) 20.6 

C) 19.4 

D) 15.9 

E) 12.4 
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